} B - 15-nporoTunel 17 | y=x —2Txpa OTpe3Ke 0;4] -54
{Iannme 23";“\(3 x}f?mee 3Haqe;? (pyHKmmH: ] 18 | y=x"—3x"+2,, OTpe3Ke [1:4] -2
2 y=&—8¢" "naorpeske h;8 . 19 }r:_r1—2r‘ﬁ+x+3HaOTpegKe [|:4]' 3

y= 3+5Tﬂ —5x— 512 cosx ma orpeske [O; %} . 20 | y=x —x"— 4[11( +34a OTpe3Ke [U:-*-L]. -109
Yy =5C0SsX —6X +4 Ha oTpe3ke {—7;0}. 22 | y=9x?—x%na orpeske I—l5_- 0
4 16 23 x° ] 25
y =9c0sX +14X+ 7 Ha oTpe3ke [0;37”}. y= ?—9X—7Ha OTpeske [—3;3_.
5 : 9 24 3 : -13
y =17SInX—8X+9 na orpeske [—37”;0] y= 5+9X—X?Ha OTpe3Ke [=3:3].
- 25 .3 . -3
6 y:6cosx+%x+5 Ha OTpE3KE [—2—”;0} 14 ¥ =x2—3x+ lya orpeske [1:9]
il 3 26 3, N -8
24 - y= g —ax .
! v = Ssinx+ —x+6 57 16,5 3 Ha OTPE3Ke [1:9],
Ha OTpesKke [_F ;0} . 27 | y=xyx—3x+ Ly, OTpe3Ke 11:9] -3
28 2 -8
8 |y = - 6 = Sxyr—3x+ 1
y = 5tgx—5x+ 6y, orpeske [0%} Y=V x+ o ompeske 1:9]
29 2 495 10 — -26
d y = dgx—dx—T+ 3y, OTpEe3Ke [_ﬁ f} 1 y= 4 : Ha OTPE3Ke [=10; I]-
4 4
30 36 12
10 _ _ 12 =x+— )
y = dx—dgx+ 124, orpese [—% 0} Y X Ha OTpeske [1:9],
H—x . -
11 5 4 3 -1 31 |y=0B-xle ", oTpeske 3:10], !
y =2tgX—4X + r —3 Ha oTpe3Ke [—— —} 32 |[yv= I{?r — 36x+ ,%6] 1:—|[]Ha orpese [E; | ]]. 24
3 —x : -4
12 ¥y = 13x—9sinx+ QHa oTpesKe |: } 9 33 ¥ = {r 8x + E—,] HA OTpE3Ke [I ’ ?]
F 34 | y= I[r 2] € Ha orpeske [|:4]. 0
: - —3—x .
13 |y = 3x—In(x+3)", oTpesKe [—2,5:0 6 35 | y=(x+3)%e Ha oTpesKe [—5:—1] 0
14 _ ~ 6,5:0 -18 18
y=4x—4In&+7 +6Ha0Tpe31<e[ ] 36 y:—l4X+7th+7—7[+11 Ha OTpesKe [_Z;z}_
15 1.5 4 2 33
y=9x—1In QX}3Ha OTpesKe | — ;—
18718 37 57 . T -2
y:3——+5x—5\/§smx Ha | 0;— |.
16 )y = 27 —Sx+Inx—3, OTpe3Ke [5 7] 6 ,4 2
6 0 38 | y=v/ 2 —6x+13 4
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40 ¥ = jﬁ Pt 16 57 y= X3 —6x° na OTpe3Ke [_j". ’Jg] 0
41 = (x+3)° f +5)— lHaOTpCSKe [_4;_1]. -1 58 | y=x"+2x +x-+ 3 1w ompesxe [—4:—” 3
42 | e —6¢'+ 3 OTpe3Ke [1;2], -6 9 |y= X2 - I'I"f'i'“lﬂa OTpe3Ke [-2:0], 108
60 | y=T7+ 12x— x4, otpeske [-2:2] 23
Haiigute Haubosbiee 3HaYeHue GPyHKIMHU: 61 y = %2 — X 1a oTpeske [10 108
62 X3 _ 11
4 12 .
3 y:12cosx+6\/§-x—2\/§7r+6Ha OTpe3Ke [0;%} y:?—g)(—?HaOTP%Ke [‘3,3_-
63 X3 23
_ A —3:3
44 v = 15x—3sinx+ 5, OTpe3Ke [—% ;0} . > y=5+9x 3 o TP | .
] . I
BT . 1% =3 2 e 04
y =10Sin X —— X+ 7 na orpeske [——;O} 65 23 10
V4 6 v=——x+3x+1 [I"?
46 IE 15 3 Ha OTPE3KE ! ]
y = 2cosx— =" + 4Ha orpesie {_ 2r ;0} | 66 | v= lrz— 2xv/X 4y orpesxe 1054]. 1
10
8 67 ¥y = ——.1'\,',-"";4‘3,'(4‘ | 1:9
47 — ".'s — ".'s T 5 3 Ha OTPE3KC [ ? ]
¥ Slgx --’f+5Ha0Tpe3Ke -=50].
4 68 x% +25 []lﬂ] 10
18 11 = Ha oTpeske L7+,
Tz
y =16tgx—16X + 477 — SHa oTpe3ke [—Z Z} 69 g 5
e 5 T [—4:—1]
y = 3x—318x — Sya orpeske [O;ﬁ} . ) =0 L > : -
4 y= ( :I Ha OTpe3Ke [' » ID].
g0« EERE 1
>0 y =14X - 7tgx— 3,57 +11Ha oTpeske {—%%} 4 1 | y=(&—9)e Ha 0Tpe3Ke (11 11],
72 | y= (3x" —36x +36)e" Ha o [—1;4] 36
- peske .
51 y=In€+5> —5x na orpeske [_4!5’(}]. 20 73 | y= Ii'r"l 10x+ 10)e I[]_lﬂa oTpesKe [5:11] 10
52 |y = 8In(x+7)— 8xt 3a OTPC3KC [_6’5;[}]- > 4 y=lx— ) " ha 0Tpe31<e [—5:1] 4
53 | y — ) — 1.5 8 — -
Y In{1Lx) — Hx+ 9y, OTPE3KE [ZZ} : B | y= (x—l—ﬁ]l ! "ha OTpeske [—-6: _]], 4
7 - -5
54 y = 2%° — 13x+ 9lnx + 84a oTpesKe {13 15} -3 6 y=—2tgx+4dx—T—3,, OTpe3Ke {_Z;E} .
14'14 | 3 3
55 5 7 11

v =4c08x —20x + 7yyy orpesie [0;3_”}
2
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. 3 3 3
8 y=>35sinx—6x+3,, oTpeske [0; %} . 100 y =5+0x _X?I
12 2 4
7 y:lZsinx—G\/§X+\/§7r+6 Ha OTpE3Ke {O;E] 101 y="T+6x—2x7
2 pJ
™ 102 3t 1 9
80 | y=logs(4—2x—x")+3 4 y= _—’f'+ X+
81 y = 3 7—6x _-,-2. 9 103 | v=7 -|_ fx — ze'f"l,-"";. 4
82 y= (x—=2)(x—4)+ SHT OTP%T [1:3] 5 104 v _%’W'G‘i‘ It 1 9
83 | & —5x — 20 ya orpesxe | 031 48 ; _
5 3 ' 2 17
84 | 3n” —20x" — 54ua orpeske [—4:—1] 42 105 _ X +289 _
; X
85 ,II"._ U5—4.l—.l'_ 9 106 6 )
y=—++x+3
X
Haiinure Touky Makcumyma QyHKIUH 107 | y—In(x+5) — Sx 2
86 | y — (9_x)e " 8 108 | v=8In(x+7)—8x13 6
87 | v — (x—i—lﬁ]e”“ 15 109 | y=2x" — 13x+ 9Inx + 8 1
88 |y = In(x15)—2x +9 45 110 ~ - s 15
¥ ' y = €x—3 cosx —2sin X +5na npomexyrke | 0;— |.
89 |y = (3x"— ":ﬁr-l—’%l‘ﬂ] *”ﬁ 0 2
%0 : ) 11 X -17
y = I[l: IDX-I-]D]I x2 + 289
R !
91 \" — (x ]| 0 112 I_'|.-' . ‘l,'.-"il- _4-.- _-‘3 -2
92 |y = (x—i- 6) et -4 113 | y =log,(24+2x —x*) =2 1
93 | y=x'—48x+ IT" -4 114 |y — 18
94 | y=x —32+2 0 115 | y=(x—2)(x—4)+5 2
9B | y=x +2x 4x+3 -1 y
- = : Haiinure TO4Ky MUHUMYMa QyHKIHHU
9% | y=x —5x+7x—5 1
97 y= 7 1 12x —_-[-3 2 116 y = (.I n I'EI:]E‘I_IE'_ 17
B | y=9-x. 6 U7y = B3—xe ~ 4
%9 y = X’ _9x_7 3 118 | y = (3x" —36x+36)e" 10
3 119 y = (_x — 2}231_5. 2
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144

e -Jlr.'.'j 2543

145

y=(x+3P(x+5) -1

120 I}r — I‘:x+3}2€2—1’ 3
121 y = (J-E — 8x+ E:JFﬁ—.r. )
122 y = 2xr— l]'ll{l’+3j-|—? 25
123 | y =x' —48x+ 17, 4
124 y= _'[J — 3.-[: | 2 2
126 | y=x"+5c +Tx—5§ 1
127 | y=T7+ 12x—x 2
128 | y=9x* - x°. 0
129 X3 ox 7 3
=—-9x-7.
Y 3
130 X3 -3
y=5+9x——.
] 3
131 yzf—:—?a_r+l 4
23
132 y=§.r?—1x—|—l 4
2
134 ¥V = ;.t"\v."'l; — 2x -+ | 4
135 i1 ]
y —_ -
X
25
B0y 2 xyos 5
X
137 | y=3x—In(x+3)° -2
138 | y=4x—4In(x+7)+6 -6
139 | y = 2x" —5x+Inx—3 1
140 ‘ , (0: E] 05
y=(0,5—x)cosx+sinx Ha mpoMexyTke 2.
141 _ X 1
x? +1
142 | y— \.,f!.tz —6x+ 11 3
143 | y = logs(x* — 6x+ 12) 42 3
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